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EMPLOYEES SELECTION BOARD , BHOPAL

Roll No.

Candidate Name

Paper Name. {av]

Test Date a1 HOB{Zi}ZZ
Test Time :Shift - 1

mEG N EE (1912-1974) T WS

T ams

Q.No: 2 Which of the following is the retirement age for the Judge of & High Court in India?

A 58 Years 58 7d
B 60 Years 60 T
be 62 Years B

Pt & 4 =i w # o w =R & e @ f deef ah am g

s o FET g

- .

Q.No: 3 The draft for the planned economy, also known as the ‘Bombay Plan’ was propesed in which of the following years?

a 1950
- "
c 1941 .

o 3w T # v e T A

Q.Mo: 4 Onasadya is the feast that is organised on the accasion of -

A Baisakhi
B Haoli
o Durga Puja '

O U hdiseemesmrmmey

Q.Na: 5 Which of the follawing dances is Guru Bipin Singh associate

B odissi _N_ ) £
G A \ O o A /4
D Kathak \ €

EQ.ND: & Pick the odd-one out -

|
A Rani Rampal

Vandana Katariya

c Shikha Pandey

QNo: 7 'al':: Ent;::?hltiun forbid employment of children below the of the following in dangerous jobs like factores A PR A @ fre s R TR OE B AT @ O S ey . 259 e
A 12 years 126
B 16 years 1636

14 years N V4 14w

Qo: 8 _gzn::;?:::{t:;il?nade by the Union Government in which of the following years to add Anti-defection law to the e e R R o P 8 fog = 2 o Sxi G T e

B 1994 1994
Lo 1991 1991
D 1979 1979

Q.No: 9 éwhidhu(the following tribes is nat an inhabitant of Madhya Pradesh? 'mﬂammmmmﬂmwa?
A Baiga &M

Bhil i

3] Gond Tits

|Q,ND: 10 Wha out of the following is the first athlete to win seven gold medals in a single Olympic Game?

|
& Markesien s e
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5 ik bt it Ll |

B Matt Biondi e Rt

o Suzy Weiner Ivsﬂim

Q.No: 1!.;52r\;e\f ych Bubka is a 4 name in - & il e i wheE A R -
A Javelin-throw T w d

Q.MNo: 12 In which of the following regions is the musical instrument Dhana Keila found? Tamfafan # & frw & # w S aw 93 o wn #
A Tamil Nadu At
B Jammu and Kashmir @ o FEER

D Nagaland

Q.No: 13 The Himalayan Mountains are an example of which of the following kinds of Mountains?  femmer o e o & o weR & wEn! @1 Same 82

|B Block Mountains
’,m -:|x.-ﬁ~‘.“ o
o

Volcanic Mountains

Q.No: 14 Which of the following rocks is formed when the moiten magma cools down and becomes solid?

B Sedimentary Rocks
c Sandstone
DIRECTIONS: A sentence with an underlined phrasal verb 15 given below, Out of the four op
Q.No: 15
Every citizen of a democratic country ought to abide by the laws of the state.
A note down
L break
o ulnhle
Out of the given options, choose the most appropriate
Q.No: 16
The robber out & knife.
take

o have ook

DIRECTIONS: Read the sentence ko find out whether there is any gram
answer, {[gnore the errors of punctuation, i any].

keferror in it, The error, if any, will be in one part of the sentence. Mark that part as your answer, If the sentence is correct, mark (4) (no erfor) as your

Q.Na: 17

The man thought that (1}/the company hired the girl (2)/bs 2 was a M. A, in Economics (3)/No error (4)

o 3
DIRECTIONS: In the i ion, a part of the 15 underlined. Below are given alternatives to the underined part which may improve the sentence. Cheose the correct alternative, In case ne improvement is required, choose |
“No Improvement” option.
Q.No: 18
Natalie did have a better job opportunity after she completes her Master's degree in Finance from Arizona State University,
A have
B No improvement
C did had
Dut of the four alternatives, choose the one which can be i d far the given 5/
Q.No: 19
| The study of human societies and culturas and their development
Physiotherapy
B Choreography

62 Calligraphy
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A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given phrasal Verb.
No: 20 A ; e

o You should not bring up the topic ofhis son"s inter-caste mamiage while vou have a chat with him_

A Summon

c call forth

o remind
DIRECTIONS: In the following ion, a part of the is underlined. Below are given alternatives to the underlined part which may improve the sentence. Choose the correct alternative. In case no improvement is required, choose
"Mo Improvement” cption.

Q.No: 21
 Mansi felt drained out as she was working since 7 a'clock in the morning.

Dut of the given options, choose the most appropriate one to fill in the blank.
Q.No: 22
The policeman his whistle.
A have blew
B has blow
C have blow 3
o
Cut of the given options, choose the most appropriate one to fill in the blank.
Q.No: 23
The boy on the burning deck,
il has stand
C

DIRECTIONS: A sentence with an underlined phrasal verb is given below. O

Q.No: 24
Michael Schumacher aced out all the participants at Grand Prix.
e ¥
B nominated
o called
Select the most appropriate woerd to fill in the blank.
Q.Na: 25

There is hope that better forestry management will help in th
conservation

ife that is constanthy g threat hecause of increasing human actvities.

supervision

| guarding

4
DIRECTION: Read the sentence to find out whether there is %liml mistake/arror in it. The error, if any, will be in one part of the sentence. Mark that part as your answer. If the sentence is correct, mark (4} (no error) as your
answer. {Ignore the errors of punctuation, i any].
Q.No: 26
The price of rice may shoot up to reach a beiling point coming months ss the stocks of the staple cereal (2)/are depleting fast owing for deficient rain and fall in output. {3)/No error {.4}
A 2
B |1
D 4
DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence. Choose the carrect alternative, In case no improvement is required, choose |
“Mo Improvement” option.
Q.No: 27
Each of the members has to takes part.
B | Every of the member
Each of the member
Each members
DIRECTIONS: In the i i a part of the is underlined. Below are given altarnstives to the underlined part which may improve the sentence. Choose the carrect alternative. In case no improvement is required, choose
"No Improvement” option.
Q.No: 28
The sailor openad the knot to hoist the flag.
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DIRECTIONS: Read the sentence to find out whether there is any grammatical mistake/error in it. The error, if any, will be in one part of the sentence. Mark that part as your answer. If the sentence is correct, mark (4) (no error) as your
answer. {Ignore the errars of punctuation, if any].

Q.Na: 29
The staff was exceptionally (1)/helpful and courtecus as well as (2)/warm and pleasantly (3)/No error (4)
A 1

Q.Ma; 30 Which of the following gases is produced by yeast during respiration? 5 & R dhe gR Pefatas F € w9 e o 9 e

B Water Vapour o A
c Nitrogen b
D Oxygen i

Q.No; 31 Where are the rings of cartilage present?

B Ears
L#] Heart
Stomach 6

Q.No: 32 Polio and chicken pox are caused by which of the following microorganism?

Q.No: 33 Acetic acid is present in:

B Lime water

D Ant’s Sting

Q.No: 34 What is swelling caused by excess fluid trapped in = % ol o Y sl wem e F T e St g o o e 8
B Addison's disease

f Sclerosis

Q.No: 35 The Bile Juice is secreted by -

Pancreas

D vill e (firef)
| QND 35 Hydrogen re‘leases which. gas when huml.? m@ﬁﬂaﬂﬂ \]TfF[ ﬁﬂ'ﬂ E’Eﬂ'a?
A Carbonic gas FEF T

6 |wae pones

o |carusivasestae R —

|Q’.Nn: 37 The National Forest Policy of 1988 of India has recommended per cent farest cover for the plains. mEE T & i (1986) § fowf @ T § R d50T gaet T S gE F 9 |
| 1 I

A 25 25

B 38 38

Q.No: 38 What is the full-form of NTD? oA, gy

B Neuro-Transmitted Disease

Faer nn MR af e Eallamde s S AAVT o mniddain af Tiabina e Ktnmeta Thane LIV S SN -
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R0 NS G NILE SRR VA SN N A T S LY+ I 4 d @i Sl & HEHIY I @) ® H A e

A All matter is made of very tiny particles called atoms, which participate in chemical i wft e T e wgw S wt | A ¥ S et aftfemal  am AR #

B ..m:umsamhlﬁviﬂ'blaparﬁclas,nhidcannotbe i ord yed in a chemical i Ty fruTe A E, W Forer wiAfFm & 3 St g o w E s A A e e w1
€ Atoms combine n the ot of smalreal numbers o form compounds e 1 e s s i o e w1

Q.No; 41 Which of the following metals would melt if kept on the palm? frafaaa o & T !ﬂﬂiﬁ‘?ﬁ T F famrty
A Germanium wifm

B Indium dodfim

D Copper Lo

|Q.No: 42 Fresh-water is NOT found in - HiE T, T g -

B Polar ice-caps
C Lakes
o Underground water

Q.No: 43 An average human being can hear sound of minimum frequency upto:

A 15 Hz
20Hz
o 10HZ

&- = B AT w Wi S TR S O S EaEe

ol Faderd

QNo: 44 | A fan is a hardware device that keeps the overall computer or a computer device cool
kg computer. The speed of & fan 1s measurad in

o Revolutions per second
B Rotations per second

Q.No: 45 Which of the

A
Q.Mo: 46 Which of the following is NOT true about a weh sarver? 7 e et ddisna en mssm Iso =

B Web server is a computer prugrﬂm that distributes web pages as they equisitioned. ai wrsu[ﬂu’tmi “3% o7 37 Tl = A FE #

G A web server is a that runs websi .hnﬁwmiiﬁﬂmﬁzmil
D The basic objective of the web server is to store, process and ‘i b pages to the usars e wiv w1 g gt gad T i O W =, ORE o e s i
o @t is a computer that offers a computer n SErvie w clients to make indirect network connections to T B e B S T Ao T WET ST § A Woe! § 9 Heas fas T A0y Tead S 9H @1
QNG AT er network services, g o |
A Proxy server g % Tt |
B Back page e
o Server i
Q.Mo: 48 Which amaong the following modifier keys is used for entering different types of symbols and capitalizing letters? fifir R & Wi B 59 o AR HE T T w ¥ i Fefe § F 59 99 31 (key) SO0 e iR

. ' A disk scheduling algerithm in an operating system causes the disk arm to seek back and forth across the disk surfaca ﬁmmﬂﬁmmm_ﬂmmt o {5 T w1 S R W A 0 9w R § mm
Q:Nov:45 sarvicing all requests in its path, based on . B, = 75 Ty Bl sl F Fm e

A Shortest Seek Time First wigwe Hiw TTEE W (Shortest Seek Time First)

D Latency time ¥t 7w (Latency time)

|Q.Nu: 50 Which of the following refers to the physical arrangement of a network? P B # @99 Jead & 1w e 3 g 8
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| Q.No: 51 The term ' in VGA ,a system for displapi hics stands for. VGA Tt F W F v Ao 8, 35 A R g e 2l

Audio Audio

is the ability of a device to "jump" directly ta the requested data. ot s w1 A R 3E W Em  # §EE vaE e g

B Sequential access HETH4 TFH (Sequential access)
€ Randomac ¥ T (Random access) |
o Quick access = TH (Quick access)
Q.Mo: 53 Which of the following was the world's first electronic progr puting device? Frafafed § | FF W g T e G F O e fearew 4
A ENIAC ENIAC
c EDVAC
Q.Na: 54 Jack Kilby is inventor of which of the following?
A Transistor
B Microprocessor
D Computer

Ng: 55 [magine that = user has a WORD d open at a work and that workstatia UF T TEEE O ¢ AR e g ead ¥ R $eTE ¥ Hem v 4
Q:No: 33/ fom the school network and from the Internet, Where should the user BEST save b i e Ay

A P drive

o 5 drive

€ Hdive , SN W,
P 4

Q.No: 56 I W‘hich of the following is 2n open-source office productn are = £ Bl ) e T F T A 1 5 P pra— x = 3?

A Ubreoffice

! B ApacheOffice

D FreeOffice

Q.Mg: 57 Wha among the fallowing is one of the builders of the ENIAC? ' 0 FreffeE § § w9 Enlac & Bed A d uw g
A Herman Hellerith o e bain'y

B John P. Eckert S

(o James Powers i

Find the wrong term in the saries given below: b At 1 TE g € A v 1 S
Q.No: 58
XAB, ACE, GEH, RGK, BIN XAB, ACE, GEH, RGK, BIN

A RGK \ 4 RGK

o ACE ACE

Sonu s taller than Yatendra, Amit is taller than Sonu. Subhash is taller than Amit. Sattu is tallest of all. Tf m;gﬂﬁﬂra?i A, L T g, o T S o 0 3 T aaE F RN B4 a8 g, O O
geiiz) ?

QNoi 59 they stand according to their height, who will be exactly in the middle?

A sonu ﬁ_'ﬂi

B Subhash Juma

C Yatendra oiE

Gl 60‘11-19%11“;4:{5 and 26 @ 14 + 3 = 4, then in the expression 15 @ 14 + A = 0.5, what 15 the 'ﬂﬁlﬂ@l +‘=4_5mlzﬁ@14+3__'4&&&“15@1‘4_-“:05#..“““” &
A .-2 :-2

c 0 0

|00z 61 TFRA% 11 .7=1and S4%Q_R =7 than in the avneassinn M # & . 10 =4 what is tha valna af A AE66*11-T=13054*0-8=2 % Arcdars M*5-10=4 & ‘M A= Fa71 &7
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C 25 25
b w 2 ]
1!"%‘tr.lenm‘*'."('mnm‘+’,‘+‘memn‘-'and‘-’meam‘+’,tl:1en1\flmtwiIlI:eilievllnemm,,e-Ilia MR EE R R R R R RO E LR RS LR
Q.No: 62 following expression? I HIF FT
16%3+5-2+4 16x3+5-2+4
10 19
10 10
3 |2

Q.Mo: 63 In the following question, select the odd letters from the given alternatives, e v #, itm e firmedt & & forem sl m s @)

B Tus
C MNL
Find the wrong term in the series given below: it i 7 sjen # W 9m W i
Q.No: 64
| NBOY, TELIE, ZHAE, FRGH, LNMK LMK
a LMK
B

Q.No: 66 A, B, C, D and E are 5 schools facing towards north. A is in the mid
e and

TR B AREIA EdREFAEARE DF i Rt sk cARD @

I D are at two ends. Which schools Is on the immediate left sid ) Y t 37 o fareer §im 2
B E
C A

Q.No: 67 If in a certain code language 'PAPER’ is written as *
A 21891410112
B 23189140112

% T (kT @Is W o PAPER’ T1'16116518" fim w ¥, o BRINIL ©F o9y B 9 e wmeme
21891410112

23189140112

o 2389411021 2389411021

e fawedt 3 & e S 9 W g S
Mzt i

QMo 6o 7 ﬁ:z‘;,ﬁ;z‘g“’g"' 46- 22 50- 18" Is written 25196-48-104- 40", What will be the code for '52:76- 31691 o e v w3, '46-22-50- 18" 1 '96-48-104-40 7T I 3, TH1 1 WT01 8 '52-76-31-69" 1 513 99 P
B 125- 84- 66- 130 125- B4- 66- 130

C 140- 160- 72- 172 140- 160-72- 172

D 78- 80- 56- 110 78- 80- 56- 110

e In a certain code language, '36-65-44-93' is written as '18-30-16-27". What will be the code for '67-35-83-29' in that % FflE B3 4 #, '36-65-44-93' T '18-30-16-27 & T # fory W 31 T4 TS W H '67-35-83-29' & fam 70
s code language?

A 74-15-38-12 74-15- 38- 12

B 36- 17- 99- 63 36- 17- 99- 63

D 18- 44- 120- 70 18- 44- 120- 70

Q.No: 71 Mohan is fourteenth from the right end in a row of 40 boys. What is his positions from the left end? 40 TEH B TF O |, W = =M o § dewd 51 i F 9§ Oee] T @ 9 e

A 24th

uafd
B 27th a7El i
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Q.No: 72 Ifa* = b’ = ¢ and b” = ac, then y equals FWa =b'=¢ mb’=ac.ta?ymt'

T e
c x2/2(x-2) x2/2(x-2)
D XZ/%4Z XZ/RAT

| In a mixture of 50 litres, the ratio of mill and water is 2 : 1. What amount of water must be added to make 60 T2 & fwm & gu ofv wFll &1 30 2 1 81 g iR OFl 1 o 1: 2 T & fe ol @ et A o el

QNG 73 e rati of milk and water as 1: 27

A 42 litres a2 Hder
B 56 litres 56 H=
i) 77 litres 77 #rew

Q.o M:'II;h:qll_J.;._g.:ofm numbers is 425 and their H.C.F. is 5. If the sum of the numbers is 100, then their difference & TEna 19, B, 495 ¥ 90 39 A, 8, 5 31 4% HEWe w1 60 100 2, § 99 R B

A 90 50

Animesh sells an article at a Loss of 123% . Had he sold it for Rs. 51.80 mare, he would

Q.No: 75
have earned a Profit of 6%. The cost price of the article is?

sﬁwm&uﬁﬂwaﬂﬁgmmww

m_mma_pamma

A Rs. 100
B Rs. 400

D ey

QNo: 76 An zetplane started at 30min later then scheduled time from a place 1500k
NG
' destination at scheduled time pilat has increased the speed of zetplane

1000 km/h
250 km/h
750 km/h
D 500 km/h

Simplify-

a
Q.No: 77 63342 3 12967
628 x 36

&

In a group of 15 members, 40% ordered tea, 80% ord, sa and 20% ordered 15 FEFHT & WHE A 0% T T S AT, $0%T WA 1 AT 20% 3 S T ndE 'Em
Q.No: 78 both. If the price of a tea is Rs. 5 and the price of

| expenditure of all the members.

Re=IB. thext e He total AR v AT T T 5 3 v w1 e © 88 A S A a e s W

Q.No: 79 1f nis any natural number, n*(n? - 1) is always divisible by: af& n 7 Wk FEm d, & n?(n? - 1) T e g

a 24 24

B 16 16

%) 12 12

No. o A Milkman mixed some water with milk to gain 25% by selling the mixture at the cost O QUITTEY <1 AT A 9 0T A 25 % T W e o T g 4 oSt aredr v

QNo: 80 5 e The ratio of water and milk Is respectively Tt 3R gy & A F
a 1 e |
B 5:4 sS4

C a4:5 a5

‘Q.No: 51 Ifa=89 b=-69,c=8 then the value of 9(a + b)* + 49¢? - 42(a + b)c is? MG a=89,b=-69,c=8 &l 9(a+b)* + 49¢* — 42(a + b)c FHH §-
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. g5 The LCM & HCF of two number is 1800 and 120 respectively, if one of the numbers is 480, The other number z
QNo: 82 ] B EENH T T, 9. AR T § TG 1800 W 120 §, % U@ TEW 480 & 7 @ €= ¥

o aso as0 |
B 430 430
D 410 410
___ Inamatemity centre 5% of all the child birth cases result in twins. What is the O SeAiaedl e H, &9 acll & S FF A 5% $H opa ot ¥, O & awt & g
QNoi 83 555 roximate percentage of twins out of the total children born? oAt &1 ofwa W S (I )
A .7.5% .7.5%

Q.No: 84 Rs. 490 is divided among A, B and C such that A's share is half that of B's and thrice that of O's. What is C's share? 42;[5%3:’!%5&{:3!35% MWaﬁnﬂmﬁﬁmﬁmaaﬁcﬁmﬁﬁﬁiﬂik

N4

On a certain sum of money, the simple interest for 2 years is Rs. 350 at the rate of 4% p
Q.No: 85 annum. If it was invested at compound interest at the same rate for the same durati
before, how much compound Interest would be earned?

350 TN §IEHRA T F O @ S a0 e e
T

5 e
C Rs, 321
D | Rs. 347

Q.No: 86 '+ W = & Freafin 4 @ i oivs o it wme &7

A AR T
c T T
el ==

| Q.No: 87 TEY "9 TF A H - e § # e e

. o

c et B

D e fEm

Q.No: 88 Frfafs 7 & w1 Fme S o1 whw/ad v 87 O'
A A T T,y e, A it g ol A e g

B A T T A, A T Y, i e T g A weh &

D sﬁmmh,waﬁﬂ,‘:hﬂﬁm?ﬂiﬂﬂa =

QNo; 89 P & wre-gm I1a- " 3 W ond 5 w1 o -

A st - v
8 : NS
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l?? i

A i e A # e # @ i e wm e R o 3e

ah 94gwmmm3r . T TR BEE
A mﬁ?

= e

c arqfeers e

Q.No: 955'&111 g R i e IR A e g i
A wHe
B oo

o

Q.No: 96 Frfafn 7 & s o a1 o F1 e Fif-

Q.No: 98 Fififm 4 § F-4 79, e of 31 71 &2
A A
B Feutol

mﬂamﬂwﬁmmﬁmmmwwﬁmwm&
MNo: 99
B

4

A a5 o e

B ST T

D BTY HIE F11 v
Q.Mo: 100 "mmE 3 At vy § o @ ogw P A S R e

B iy

. i i

o WA T e

Q.MNo: 101 In roof trusses, the value of pitch is taken as- FF T (roof trusses) ¥, f =1 7 Fn I 3
A 1/3 10 1/6 1/3%1/6

C 1/2t0 1/5

Q.Mo: 102 Amang the following salt is also called black alkali? m # 3 550 730 T T &7 (black alkali) 1 &5 = &2

S aco, |
B Na50, | Na;50,

n LTS Manu
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| [ ey

Q.Mo: 103 The dlassification of survey on the Basis;of nattirs-of ares is callade. e uqaﬁr% SR T A 3 e @ ma‘ ?
A Mine surveying T/ T (Mine) T4
B Engineering surveying FoTETAT WM

D Military surveying g wdarm

|Q.ND: 104 The volume of vaids Vv is the sum of RfEFl @ A v FamE sy
A ﬁemﬂumenfaiandmum of solids Y T AT ST T T ST
B the volume of water and the weight of water T 7 e it e
C the volume of water and volume of solids il #t o & g Tl o

Q.No; 105 Solonetz soil is also termed As FIEFEA T @ ]
B Hiahly saline soil .mmw
_m ST TET

o diex B W 3l F oE o A gen Pt
ézﬁ.szsjﬁ.

No: 107 Classified the sail sample if it has an Exch ble sodium e (ESP) of 16%, its electrical conducti 3, e g e 3.2 fel-EE o
G:Hlo: Milli-Mohs/cm and a pH of 9.5

A Saline soil

c Allaline

D Non-Saline soil

!Q.No: 108 The retaining wall moves
A away from the fill

during the passive state of plastic equilib ' T R et &

B remains in equilibrium

D towards the fill

|Q.No.' 109 The extra width of pavement is previded en

B Horizontal curve.

C Width of pavement ITIF ﬂm
3] .Length of pavement m +t FaE
P/
Q.No: 110 Water evaporation creates a vapour called as __ that is moved through the air. o F A § e I e § I F e § weeE e

Q.No: 111 What cir can the tr idal formula be TIEEER 5 W R e aeEt d S we i
A it iangles and 'diuuﬁnpahi\hmi
it prism and p ufE we firew st wwiey T = ve wvm @

D =@b3)

Q.Mo: 113 The failure wedge shows in active state wfira smwn 3 fw T W T E

o] left side movement
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Q.Mo: 114 The necessary camber is determined by . |anum w o Fafrmam &

c Rainfall characteristics auf & fareamy
D Type of pavement HEF FUFT

_ cwRm

Q.Na: 115 ‘The ideal pavement surface at high speed should have an unevenness index of

B 4500 mm/km

| e vty o 2 e o T s

3500 mm / km

TR T AR W S aEY e e @ e H
Gl
e

Q.No: 116 Compression of =ail, under short duration of moving or vibratory loads is
o swelling

Q.No: 117 Inthe industry, is the monsy that can be
‘A Book Value
B Market Value

i property. % v 2 Fo sl o ofteres wut & e e e o w8

Q.No: 118 What is Strut?

A A structural member subjected to axial Shear force.
B A structural b b 1 to i P ive force.

C A by 1 d to axial tensile force.

QNo: 119 In gensrsl, the salvage value is important because i will be the of th : P TETEE T W & T a‘lar—‘t% TE g E ] T R
Al after depreciation has been fully expensed. g

A Borrowing Value

B Doubling Value

C Multiplying Value

Q.Mo: 120 The type of traffic In India assumed to design pavem ILF 7], 5 TaaEd 0 & fT W I a1 T 1 0 8

A medultctow “ v s e
C Low traffic
o Very low traffic .
4
No: 121 |————— which is based on what a company anticipates gatting in exchange after the end of its F I I T AT TS S A ITnt S B A A S0 & g § o 0 w9 @ e
Q:No: useful life, is the expected book value of an asset after deprecistion is complets, G T 8, T O A & 9 T S50 @ sy 1% o 81

A Book Value ‘ T=T T

e Market Value { } T g

o Scrap value s@afing ge

Q.Mo: 122 [t root truss, the value of snow load is taken as- =5 sR H R uR @ o = -
A 3.5N/m? 3.5N/m?

B 4 5N/m? 4 5N/m?

231

Q.Mo: 123 Which one of the following is not a methed of valuation of land? Fofafe 3 w5y S geles 9 R
B Extraction Method

L Development Method

o agie

Q.No: 124 The ratio of liquid limit minus the natural water content to the plasticity index of the soil is |mﬁmﬁ|aﬁmﬁ,ﬁﬁ%ﬁﬁﬁﬁiéﬁu # UrpTaw W TR F TEwT 7

m

Plasticity index

a

MNone of the mentioned

I [ R— S
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~ rumvuyL vunas Cramsm gam

B ‘Book value T ey

T 29§, TA © 39 UeR it B -

mmaﬁ?é’qﬂmqm

D Ratio of rise and pitch of the truss 0 & ge Al firg =1 sgo

Q.No: 127 The coeficient of active earth is than the ient of passive pi . 'mmmmmﬁmm & iE & #l
B equal to T

[« insufficient data i g

Q.No; 128 Rent fixation is?

B To legally authorize the property ufir 7 e s e &
o3 To find the value of the property Huf 1 7 | w9 ¥
o To find the person who is going to buy the property TwEE wit Wt wite w1 TE e

Q.No: 129 What is the diameter of the sieve that is used for finding the liguid limit?

A 700 microns

o 200 microns

Q.No: 130 The key factor affecting braking effectiveness is :

A Length of the curve

c PIEV theory

Q.No: 131 Which one of the following is not a depreciation method for sal
A Double Declining Balance

C Sum-0f-Years Digits
o Straight Line Depreciation

Q.No: 132 The highest dam of India Is built on which River
A Bhagirathi River

B Kaveri River

b
Q.No: 133 Nominal Diameter 'd’ of rivet to be usad in plate of thickness ' is Q A v # i A U 1 55 9 #s S T d # T §6 IER # SR -
A d= 625/t A d= 625/t
B d= 65yt d= 65yt
c |d=1254k \J d=254t

Q.No: 134 Horizontz| axis is also known as & T e E

B Outer axis aEdt aw
o Inner axis At Ay
|Q.ND: 135 If a soil is confined in & consalid then at ilibrium stage, the applied pressure is equal ﬁwﬂ@ﬁwaﬁaﬂﬂmmmﬂ,ﬂmﬂmmﬂ,mm T A R

Q.No: 136 Which of the following methods for water conservation is most effective? i HiEm & T Pt E w6 A R e e
A Increase food waste T F FETE g
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C Always turn on the taps e Y g e v

i) | Bl the water vitin there i no nead :wmﬂﬁﬁmm

Q.Mo: 137 What is the sail’s top called when water started to seap into it? a1 F TF T Y F 0 S0 A § gl § e e w52

A Precipitation anf (Precipitation)

C Transpiration AHIHEA (Transpiration)

o Filtration Frafea (Finration)

Q.Mo: 138 Which of the following shapes does not offer camber? aw Ffafea 4 4 G an § vae = G a8

A Straight i

= T - i

B Cireular e |
c Combination of straight and paraboli i aitz wrEEEE F1HG T

Q.No: 139 The value of physical objects when its no longer used is termed as. iifeE TEa 1 Hra WE FEET 99 TUATT w6 T e g 6t 59 s W
B Object

C Ttem

D Thing

Q.No: 140 Projectad resale value of an asset is known as?
A Scrap value

5 ‘[ =

o Book value

Q.No; 141 On a cross slope of up to 10%, the design speed of NH is

80 kmph
50 kmph

Q.MNo: 142 Solonchak soil is also called?
A Alkali Soils

o ‘Saline-alkali soils

T O I T W R @@ d
e
!m
=

Q.Mo: 143 The value of a property depends on its

A Legal Control
B Life

|Q.N0: 144 According to IRC, bituminous roads in areas with frequent heavy downy ew a minimum camber of oy fae S B A A 3

55 3% 3%

o 2.5% N y 4 2.5%

Every process involving a decrease in the water content of & saturated soil withour replacement of water by air iz
QNo: 145 o T T U F wGE R S M S S S a1 Wi S 9 v v w5 T A F
A tension ™

C compressibility e

o compression b i

|@.No: 146 Unwin's formula is used to determine- | 2 5 g T T T A 5 o o T 2
B Gross diameter of rivet frir T mEA W

C Thickness of plate e ¥ e

Q.No: 147 What function does the rainwater that turns into streams as it leaves the earth's surface? = 1w T 1w W e ot weuwst § a5 = W 5 e w6
A Back water storage iy FE W IEG EE
B Pit Trrigation =t R

i 1
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Q.No: 148 Which of the following plays a main role in property insurance?
A Salvage value

FrefalEd § 4 F15 90 I (property insuranee) B T8 mﬂm%?
P A

Scrap value

: 149 The grooving tool used for finding liquid limit is
.Nnne of the mentioned .
. | of the mentioned

Q.No: 150 What are the classes of salty soil
Saline soil, Alkali soil, Non-saline soil

D Alkali soil, Non-saline soil, Saline-alkali soil

A HT A FE 3 T TG e A e g

|Q.ND: 151 Which of the following must be done for chtaining equivalent area?

Applying correction for angles

sl L3
Applying correction for bearings

IQ,NO: 152 What is the main difference between Lap jomnt & Butt joint.

A Lap joint is subjected to double shear while butt joint is subjected to single shea

B None of the given options

o Long rivets are used in lap joints while small rivets are used in butt jo

Q.No; 153 s used to identify key strategic locations.
A Traverse surveying

B Topographic surveying

C City surveying

!Q.No: 154 Which of the following best describes the premise bel

B Mid-area is the mean

C Mid-area is not the mean of the end area

o = & WA 7T gl § St fagw o1 suum fem am ¥

W T T @ T & fa e s
rsa}'lﬁ!m

mﬁiﬂ'%aﬂmmmw%mmmﬁmmmf?

:Wﬂﬁtﬂw?
T & am & g T

Mid-area is the mean of the starting area

a9 &7 wrfiE fr F A

Q.No; 155 In roof trusses, pitch is defined as- w5 29 § e it g v afvaii fem aw i
A .Nnuz |.:vflhe given options h‘ﬂw“ﬁﬂfﬂ

B Difference between span and rise e mm s

C Span x rise -

o < 3o

Q.No: 156 As per IS-BOO, the maximum value of river pitch is taken as-

A 32t or 200mm whichever is less
B MNone of the given options
D 32t or 350mm whichever is less

15800 5 SIETE At i o aifim A for e #-
32t or 200mm W W FHE

fam e Pt 3t 4 9

32t or 350mm T W FH F

Q.No: 157 According to 15-800, In designing of purlin, the width of purlin should not be less than- 15-800 ¥ AW Wty 2 fyemgfin # i of g W = = e R

a Lf9n L/an

B L/80 L/80

c 760 L/60 |
Q.No: 158 Value assigned ta a to measure applicable taxes is A F B F R T w1 e e e g e

o Market value AT UTE

C Book value TF I

D Scrap value wF wr
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Q.No: 159 The plastic index is calculated from the relation wew EEE BT FHYEF IR

B b=Iw-lIs b=Iyls
b=VWe bW
D b=k bk
Q.No: 160 The zone saturation's upper surface is referred to as 7 T F S Ten e

C Aquiclude st T
Aquifuge rerafida
T iz the technique of estimating and calculating the fair value of a praperty such as a building, a factory, TF T B IR T w1 A AR T S B aeSE ¢ o (6 UF 5, TF SR, 7 R TR 71
Qlai or other engineering structres of various types, buildings, land, etc, FefifE FE, v, o,
B Forging il
C Analysing frdm
D Evaluation e

Q.No; 162 10% scrap is considered for

9

A Work
B Storage
C House old
If the areas of the two sides of & prismoid are 211.75 square metres and 134,67 % v FriteE : 4 in ﬁi‘ﬂtﬁ? @ Wﬁlmm{m E M T #E

Q.No: 163 square metres, respectively, and are spaced 2 metres apart, calculate the total

volume using the trapezoidal formula. Think about n=3, o

A 817.52 cu.m

C BO9.71 cu.m
T

D 82753 cum

Q.No: 164 Loss in market value of an asset is known as? e i e KE R o e 1 R 1
A Dedline

C Decrease

o Incline

&,
ater supply systes and sewers?

iQ.No: 165 which of the following surveys is done in relation to the bu

E surveying - "
Mone of the given options y v ] . By Rewidded
Hydrographic surveying W FEL ST (ETIF TG waAaw)

Qﬁf others, charge in utility, demand

The loss in the value of property due to change in design, fashicn, t

(:No: 1ed and also specific detrimental influences. What is it? A\

Q.No; 167 What is the restriction on its use If the salt concentration of the irrigation water ranges from 0.5 - 2 g/L? T TG O @ e 3t (e & ae # e @t A 0.5 - 2 A/ 8 e
B Tt should be used with appropriate water ma practi = it S f = % v fva o R
c No dependency on the salt conc i e o i e i Prafe
It is not generally advised for use unless consulted with specialists o A fadest F FaE T A # 9 0 T A1 W U F #t A Tel ot o
Q.Mo: 168 In roof trusses, what is ridge ling? FF e H, B e g
A A line drawn by mecting all points of same pitch in the truss A TE i F mih fagad =1 firemes @it
B A line drawn by meeting all the points of equal slope in truss. W A TeE & At fagat @ e @i v
c None of the given options T A

Q.MNo: 169 According to 15-800, In designing of purlin, permissible deflection is- | 15-800 F I TR & fraeA 4§ ey B -
B Span/350 Span/350
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spans 200

D Span/300 ‘Span/300

Q.No: 170 The water content of a soil sample cannot be determined by method. T & A & o @ Fafy g Fwife et =1 Wt &)

TE AT T § O T U A 5 S e § e & 95 &9 e 6

is the estimated cost that a fixed assat can be sold for after factoring in full depreciation.

Scrap v 3
Market Value

C” Sulvngc Value |
172 Among the following what is the highest stone masonry gravity dam of India P 49 YR & 954 & TR =1 RS 9 Y S 6 57
Nagarjuna Sagar dam AT AR FiY

‘Mettur dam ety

Q.Mg: 173 Fer road geometrics the most important factor that is required is

A osn
Lo 85D
o 15D

IQ,NO: 174 Which of the following is not useful for engi purpese, as proposed by

Plastic limit

|Q.No: 175 Identify Which of the following is 2 stone masonry dam? Vv H § A T T URRE ) TS W amia aty g
A Nagarjuna Sapar Dam

B Bhakra Nangal dam

o Tehri dam

Q.No; 176 What kind of surveying is employed to discover mineral

B Military surveying

C .Tupugraphic surveying o . mnyﬁﬂvwiuw

o City surveying e TET WAL
O

i:‘:ﬁl‘rmaﬁmmsﬁqﬁ@ﬂmw%ﬂwﬂ%ﬂﬁ@m{ﬁ]mmmaﬁmﬂ:s%aﬂmhrnmrﬂ-
;aﬂ@lﬁﬁiﬁaﬁ%qﬂm@x.smw.?

7.5%

sturated extract of soil is 10 m

Estimate the lzaching requiremant when electrical conductivity (EC)
g ati ater is 1.5 m mhofcm

mho/cm at 25% reduction in the yield of the crop. The EC of

Q.Na; 177

e

| 15%
| 6.66%

QNo: 178 In & partially saturated sail mass, air socupies one-sieth of its volume and Water accupies one- eighth of its volume. 3 71 T7w 2 & 55009 §, 791 5TF 3100 &1 531 YW 00 A6 § 9l 91 30 o0 & e U 9% 09§ 9 SR

What will be the ratio of volume of voids with respect to the total volume? F Hy H Trfd & W @ AT 3 g
B
c
Q.No: 179 The reduction in volume of sail which is due to squeezing out of water from the voids is T & o B @ S e R A Fraee & e @ &
A load increment g
B ' secondary consolidation T WEE
D olidation mfire T
Q.Mo: 180 he buming of solid waste is not recormmended because STETE T WA ST T e W § e
A It requires a lot of space i forg g e o

c Tt is an costly nrocess. W T W whe #
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‘D. .'I.tra]n.ilﬁalntc;i:manpumr. memmammtl

What velume of precipitation is returned to the atmesphere? ] 0 P e e B AT A S &

Q.No: 182 The method of remeving dust and other particles from water using filters is called Tireee = TUT S 9§ YE T S F @t i_z_ﬁ_?ﬁﬂﬁ] FEaRl §

B Rainwater harvesting aui wa- R
c Sublimation Eisuin
D Evaporation Elican

Q.Mo: 183 Diamater of head of river is of the diameter of shank of rivet. i Fiem & o & 208 F10® © 2 & oI & #

A 2 [2

B 16

D 1.25 ’, 4

Q.No: 184 The method used to filter water is known by the name of
A Sublimation

B Oxidation

(e Rainwater harvesting

Fearer] 8 T e S A 7 A R

Q.No: 185 According to Federal plumbing rufes, the gallon to use in new toilets is
A 59
B 3.5

3 1.6

& an ¥ w fiow am @

None of the mentioned
o Properties of sail A\ fadt %Eﬂ

Q.Mo: 188 of a building or property is the methad ng the present marketable cast of a building. imwmmﬁmi UG UF B EAR 40 O A @ 0w @ R g

|Q.ND: 180 The virgin campression curve is the curve between T T s R T
|A effective p and pore p trurdt g At AT g
B Flective p and total p wuTdt TETE AT FF TEE

o total pressure and total pressure gnmaikynm

9% T F IuREE g w2 o e
wsfaw fifi

iQ.No: 190 A fund established by a sooety's by laws?

A Natural fund

| S=Evr— T % T | . - & i R A% B S S P S PP G N P
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QNG 1YL IT INCTEeasas in NS WaTer CONCEnT JUE [ 8N INCrease in e VOIUME oF YoIas 1S KNOWN 35 UIG 1EIA0U] D HINaT H Qi D TICA Uit DI HIEH GG FI0E, 0 §4 @50

B compression wHitg

c ‘consolidation HETT

o -compressibility st

QNo: 192 ::::::;:a;’?raar&quakaload is taken under i ion while designing, then p issible stresses are to be qﬁﬁ aﬂﬂwmwwﬁumﬂmﬁmm%ﬁ A S e

Q.No: 193 The coefficient earth at rest is
B equal to coefficient of active pressure
[ less than coefficient of active pressure

Q.No: 194 Which of the following methods is the most effective far conserving water? I ERem & Ty e J © e O G T e
A Using other liquids instead of water for shower W i o = T A T w7 IO e

C Taking shower with more water
Mot taking shower

Q.No: 195 what is the value of the separate components of a physical asset when the item itself is no longer usable?
A Salvage Value
B ‘Market Value

Book Value

=]

L:No: 196 The volume of voids in a sample of thoroughly saturated soil is equal to
B the volume of water and volume of solids
c

volume of air

Q.Mo: 198 Calculate the volume of the third section with areas of 76. 76.32 = et A 24,56 7 et & dAma T T UE F AT 10 4, B 4 W ¥ amm e

A 201.67 cu. m 20167 cu.m
B 210.11 cu. m 210.11 cu. m
C 210.76 cu. m 210.76 cu. m

Q.No: 199 Web crippling is mostly seen due to- w fmai wEw e TRt w -
A Self weight of member O TR AR
b et > e ]

C Earthquake load YT U

Q.No: 200 According to middle-third rule, eccentricity 'e' should be (where 'b’ is width of base- oy fon & mﬂm ‘e’ FHT =g (=gl ‘B’ R @t a"ﬁ'lf%)-
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